8.7 Vanialle Compoaitions
EQ:

cos (tan‘l x)

sec(tan - 3x)
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8.1 drwenae Values on the Unit Cincle 8.6 dnig Compaaitions
EQ: EQ:

How do I find an
inverse value?

] 1
sin30° ==
2 HOW dO T SOIVE COMPOSIHIONS WhEN +hE INVEISE iS INSIDE +h€ POrENt+hesis?

1. sec(sinl(ED TrY ThiS cot(arcsec(—ED
(1 7 2
1. COS (Ej

2. arcsin(—%j

2. cos™ (sin 4?7[) Y TS sin™ (cos%j
Will there always Quadnantal drvenaes
be two locations
for an inverse? 4, cos™ (0)
5. sin™(-1)

Will 0's and 1’s 3. cos‘l(tan (O))

always be
quadrantal or can
you draw a triangle
for some?

i 3 cos‘{ ﬁ] HOW dO T SOIVE COMPOSIHONS WhEN +he INVErSE iS OUTSIDE +hE POArEN+hESIS?
' 6. tant1



8.5 Principal Jrwenae Values 8.2 Henenal Aolutions
EQ: EQ:

Problem General Solution  First 3 positive values

1. x=sin™" {ﬁ]
2

| _ _
y=sin_ x y=cos ' x y=tan'x

_ 1
y=cse o x y=sec ' x y=cot'x

2. X= sin‘l(—lj
2

Which quadrants fall in the restricted ranges?

3. cosx=—1
2

4, x:tanfl(—ﬁ)

3. csc’l(ﬁ) 4. cos™(0)

5.x=cos™(-1)
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8.3 awmwmwwmm 8.4 drwenae Panent Junctions

EQ: EQ:

1. f(x)=2+3003%(x—6) y=sin""x
A) 1(8) .

B) f(x)=1.3

-1
2. T(X) = 4+33in%(x— 2)  Find the first 3 positive solutions where y=C0s X y=tan"Xx

f(x)=6 RESHI

Ateps:

1.Pluginy = #

2. Isolate sin or cos

3. Inverse both sides

4. Find quadrants

5. Use calculator (in radians)
Q1:6,Qll: n- O,
QIII: n+6, QIV: -6

6. Don't forget +2zn

7. Solve for x

8. Repeat steps 5-7 for 2nd

solution




